Unit 5: Nomenclature and Moles

Multiple Choice Practice
Directions: Each of the questions or incomplete statements below is followed by four suggested answers or completions.  Select the answer that is best in each case and then fill in the corresponding circle on the answer sheet.

Note: For all questions, assume that the temperature is 298K, the pressure is 1.00 atm, and solutions are aqueous unless otherwise specified.
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31 How many ions are present in 37.0 grams of calcium chloride (CaCl,)?
A 181X 10%*ions
B 6.02 X 10%ions
C 4.01 X 10%ions
D 2.01x 10%ions
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32 What is the percent composition of nitrogen in ammonia (NH,)?
A 82.22%
B 93.33%
C 14.00%
D 25.00%
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37 What is the gram-formula mass of Ca(OH),?
(1) 29 g/mol (3) 57 g/mol
(2) 54 g/mol (4) 74 g/mol
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35 Which molecular formula is also an empirical
formula?
(1) Cgllg (3) NgHy
(2) HyOy (4) NyO5
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22 How many molecules are in 0.500 mole of N,

F 1.20 x 10*> molecules

G 3.01x10% molecules

H 6.02 x 10?* molecules

3 3.01x10% molecules
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38 What is the percentage by mass of sodium (Na) in a formula unit of sodium hydrogen
carbonate (NaHCO,)?

F 44.2%
G 37.7%
H 27.4%

o

16.7%
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29 Which of the following corresponds with one mole of particles?

1 mol €O,
A 6.02 x 102 grams of CO, x ————— = 1.37 x 102 mol CO,

44 grams
6.02 x 102 molecules of CO.

= 2.00 x 10% atoms CO,
3 atoms / molecule

C 6.02 x 10% molecules of CO,

3 atoms
D 6.02 x 107 molecules of CO, x ——————— = 18.06 x 107 atoms CO.
2" 1 molecule CO, 2
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30 How many molecules are in 45.0 g of CH.?

A

B
C
D

1.04 X 10% molecules
3.47 X 102 molecules
2.71 X 10 molecules

1.34 X 102 molecules
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31 How many ions are present in 50.0 grams of hydrogen cyanide (HCN)?
A 3.34 X 10%ions
B 6.50 X 10%ions
C 1.11 X 10%*ions
D 2.23 X 10%*ions
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32 A compound contains 62.0% carbon, 10.4% hydrogen, and 27.5% oxygen. What is the
empirical formula for the compound?

A CHO
B CH,O
C CHO
D CHO




